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QUESTION 1

You have a 2-node switchless cluster named clusterA. You are planning on adding two additional nodes to clusterA. 

What must you consider before you add the addiHonal nodes to clusterA? 

A. Convert clusterA to a switched cluster by migrating the data lIFs from direct connect to die cluster interconnect
switch. 

B. Convert clusterA to a single-node cluster. 

C. Convert clusterA to a switch** cluster by migrating the cluster LIFs from direct connect to the cluster interconnect
switch. 

D. Use direct connect to add the additional nodes to clusterA. 

Correct Answer: C 

 

QUESTION 2

You are asked to install a new ONTAP cluster at a customer site. 

In this scenario, which ONTAP versions would you normally install? (Choose two.) 

A. the latest RC1 with the included patch level 

B. the latest GA with the included patch level 

C. the release specified by the customer 

D. the latest D release listed for the controller type 

Correct Answer: BC 

 

QUESTION 3

You are performing a nondisruptive image upgrade of a CN1610 switch. You verify that there are no path failures on the
switch. 

What is the next step in this process? 

A. Run the write memory command. 

B. Run the reload command. 

C. Backup the current running image using the copy active backup command. 

D. Reboot the switch. 

Correct Answer: A 
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QUESTION 4

Which two configurations use root-data-data partitioning? (Choose two.) 

A. FAS8080 with 1.8 TB external SAS drives 

B. AFF A800 with 3.8 TB internal NVMe SSD drives 

C. FAS2650 with 1.8 TB internal SAS drives 

D. AFF A220 with 3.8 TB internal SSD drives 

Correct Answer: AB 

 

QUESTION 5

You have a 2-node switchless cluster in a remote location. Node1 has taken over node 2. You want to access node 2 to
investigate the problem. 

In this scenario, how would you contact node 2 from a remote location? 

A. Use SSH to access the Service Processor on node 2. 

B. Use telnet to access the Service Processor IP on node 2. 

C. Use SSH to access the node management IP on node 1. 

D. Use SSH to access the node management IP on node 2. 

Correct Answer: A 
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